HR® [l i) NOA—1
I B ¥R Bk By | BHME | EEHE " &
Bo/KEFAEE T |HPPE(EFR O A REE)L=5.00m $ 100 PN 40
HPPE(E %) L=5.00m ¢ 100 x 7
HPPE (EF% A1 fr R B &) L=5.00m ¢ 50 x 1
HPPE(E %) L=5.00m ¢ 50 x 3
HiVP  L=4.00m ¢ 50 P 2
" ¢ 40 PN 4
" ¢ 30 F:N 9
EFF—X (M%) ¢ 100 % ¢ 50 & 6
EFV4vbk ®50 & 6
FHEIEGEEER) ¢ 50 x 45° & 4
FHEIEGEEER) ¢ 40x 45° & 8
PESaq Uk 50 & 1
VSHF#EbLIa Uk ¢ 50 % ¢ 40 & 3
vs¥aqvk ¢ 50 & 2
vs¥aqvk ¢ 40 & 2
HEILSKRERYER) $100x ¢ 40 1@ 2
" ¢ 100 x ¢ 30 & 1
HiF vy 30 & 1
HIRUK ¢ 30 % 45° 18 1
SKX# bk RV v EE &) ®40 & 2
SKX# bk RV v EE &) $30 & 1
RS —hk W=150S m 308.1 308.1m#E%(230.9+19.2+6.5+16.5+35.0)

EUIFERET ¢ 100|—FE YT — LI HCERYER) ¢ 100 = 4
HYHE H=800 = 4
RUIFHET ¢ 50 [FRETIFH ¢50 = 5

Bhlfvryk(BEER) ¢ 50 & 5 XEFRLUL

BhlHFVryb(RUER) 127t ¢ 50 & 5 XEFRLUL
HYHE H=800 #A 5




#HE [(TE HrhRigl

NO.1-2
I 2% pShry B | BUHE | EEH=E -
TEURFZET ¢40 |FRRLETH ¢40 = 2
Bhlfvryk(BEER) @50 & 4 XREmMUL
BRI YR (EREX L) 150 X 600 #H 2
TEURFZET ¢30 |FRRLETH $30 = 1
Bhlfvryk(BEER) ¢ 30 & 2 XREmMUL
HYHE H=600 #A 1
HRRZRETI 75 [Hki @75 = 1
#iEF H=200 ¢ 75 & 1
FAHEFFERTEE @100% 75 1@ 1
ISUCHFEM @75 & 2
HRIRE H=800 #A 1
WBAKTIBL YR SkiE GRUSHE) $100% ¢ 20 e 4
" ¢ 100 x ¢ 25 & 1
" ¢ 100 x ¢ 50 & 1
AT ®20 & 4
" $25 & 1
SKX4 LE7kig AV 4y hGEE &) ¢ 50 & 1 XEZERLL
HiF—X $30x ¢20 & 1
HiV&k ®20 4
" ®25 1
HITJLAR ¢ 20 & 10
" 25 2
SKXTLARUEEE ) ¢ 50x90° & 2
HIVP  L=4.0m 20 N 2 55m#ER (1.5m X 144+1.0m X 444)
" $25 N 1 1.5m#E% (1.5m X 144)
BRY—h W=1508 m 4 4.0m7EE(1.0m X 244+0.5m x 44F)




FHER (HE HFrhRiR]

No.2-1
IfE E2E g B4 | BME | EEHE " &
BKERRT |[RUTFLUERRT $100 m 230.9
" ¢ 50 m 19.2
RUIFLOERF I (REES) ¢ 100 1O#EF a 40
" ®100 20O0#F = 6
" $50 10O##F m| 1
" 50 200#F = 6
RYIFLOEGMRT ¢ 100 m] 8 EREEL
" @50 O 5
AN=HIBFIGRIER) ¢ 50 a 2
ANZHLBETEEER) ®50 O 15
" ¢ 40 m] 27
EZLERBET ¢ 50 m 6.5
" ¢ 40 m 16.5
" ¢ 30 m 35
YRILHKERBI GRUER) $100x ¢ 40 & 2
" @100 % ¢ 30 e 1
HENORERCIAHES @40 m] 2
" ®30 O 1
RUIFLUERET ¢ 40 m] 2
" ®30 O 1
EHRS—F m 308.1 308.1m#E%(230.9+19.2+6.5+16.5+35.0)
KRBT HAKETRE =] 0.15 308.1m/2,000H =0.154H
HYOAFFZET G 100|LIHFZET ¢ 100 = 4
AHZHLBETRYER) ¢ 100 O 8
FERETL H=800 #8 4
BERE " 4
HYAFZET ¢50 |EIHFZET ®50 = 5
HENABRERCAHES ®50 O 10
RUIFLUEHET ® 50 m] 10
FERET H=800 #H 5
BERE ® 5




FHER (HE HFrhRiR]

No.2-2

HURZET ¢40 |EIRFZET @40 = 2
WENORERLAAES @50 ] 4
RYIFLUBEHET ¢ 50 ] 4
LEKAEH YYRERE T H=600 #8 2
HUAZET ¢30 [EIRZET @40 = 1
WENORERLAHES ® 50 m] 2
RYIFLUBEHET ¢ 50 ] 2
FERETL H=600 #8 1
BERE 54 1
SHARRRBET G75 BARBRET @75 = 1
AHZAHLBETRYER) @100 ] 2
ISUCHET @75 m] 1
FERET H=800 #H 1
BERE L5 1
WAKUIBT |YFLHKBRBEIGRIUEH) $100x ¢ 20 & 4
" ¢ 100x ¢ 25 & 1
" @100 % ¢ 50 e 1
WMENORERLAAES ®20 ] 4
" ¢ 25 ] 1
" ® 50 m] 1

E-—LEmRT @20 m 5.5 55m#iE% (1.5m X 14£+1.0m X 44%)

" @25 m 15 1.5m#E% (1.5m X 144)

RYIFLUBEHET ¢ 50 ] 5
TSHFL ® 20 m] 24
" ¢ 25 ] 6

EHRR—b m 4 4.0m7FE(1.0m X 244-+0.5m X 444)




T I HE X No.3
£ R OB # B 4y £ A EE
E FrxhRi ¢ 100/ ¢ 50/ ¢ 30
BLKEMBT [#MARIET H=800 HrE@ 060 m X 0985 m X 2309 m = 136.46 m3
H=600 HEQ 060 m Xx 0723 m X 302 m = 1310 m3
H=600 HEQ) 060 m Xx 0698 m X 350 m = 1466 m3
H=600 HE®) 060 m Xx 0708 m X 120 m = 510 m3
a5t = 169.32 m3 170
HERLT SR HrE@ 060 m Xx 0325 m X 2309 m = 4503 m3
SR HEQ 060 m Xx 0263 m X 302 m = 477 m3
SR HEQ) 060 m Xx 0238 m X 350 m = 500 m3
SR HrE®) 060 m Xx 0248 m X 120 m = 179 m3
a5t = 56.57 m3 60
BALESR) D.2.8.6 = 56.57 m3 60
HIERLT FEL HrE@ 060 m X 0490 m X 2309 m = 67.88 m3
it HEQ 060 m Xx 0290 m X 302 m = 525 m3
FEL HEQ) 060 m Xx 0290 m X 350 m = 609 m3
EEL HE®) 060 m Xx 0290 m X 120 m = 209 m3
a5t = 81.32 m3 80
BiamET SERE S km) = 7897 m3 80
BERREETOLSH = 7897 m3 80
TERET t=10cm RC-30 060 m Xx 308.1 m = 18486 m2 185
FERET t=8cm M-30 060 m Xx 308.1 m = 18486 m2 185
RAsEHET t=3cm FEAL 060 m X 308.1 m = 184.86 m?2 185
ARG IBASTHET (ML) t=4cm EH 130 m X 2309 m = 30017 m2 300
ARIEIBAsTET (N HET) t=4cm EH 080 m X 772 m = 61.76 m2 62
AsEHEERR I T t=4cm 350 m x 2 % = 7000 m
t=4cm 2309 m X 3 & = 69270 m
t=4cm 422 m X 4 & = 168.80 m
a5t = 93150 m 932
AsTHEERRRER T t=4cm 070 m X 350 m = 2450 m2
t=4cm 130 m X 230.9 = 300.17 m2
t=4cm 080 m 422 = 3376 m2
a5t = 35843 m2 358
{RAsEHSERREERE T t=3cm 060 m X 308.1 m = 184.86 m?2 185
AsTHERER - T SE i 2 (km) = 19.88 m3 20
MRKEMBT [HWMARET H=600 060 m 0686 m x 40 m = 1.65 m3 2
BERLT SR 060 m X 0226 m X 40 m = 054 m3 1
BERLT EEL 060 m X 0290 m X 40 m = 070 m3 1
ErunET = 087 m3 1
TERET t=10cm RC-30 060 m Xx 40 m = 240 m2 2
LRERET t=8cm M-30 060 m X 40 m = 240 m2 2
RAsEEET t=3cm FEAL 060 m X 40 m = 240 m2 2
ARIEIBAsTET (N AET) t=4cm R 080 m X 40 m = 320 m2 3
AsTHEERRYIBT T t=4cm 400 m X 4 % = 1600 m 16
AsTHEERRRER T t=4cm 080 m X 40 m = 320 m2 3
{RASEHSERREERE T t=3cm 060 m X 40 m = 240 m2 2
AsTHEERER - LT SE i 2 (km) = 020 m3 0.2




#HEE (A ET15K]

NO.1-1
I £ Bk By | BHME | EEHE " &

BUKERIRT  |HPPE(EFZ O 2 EE)L=5.00m ¢ 100 EN 26
HPPE(E %) L=5.00m ¢ 100 P 3
HPPE(E %) L=5.00m ¢ 50 P 2
HIVP  L=4.00m #50 F:3 2
HIVP  L=4.00m ®40 F:3 1
EFF—X (M%) $100x ¢ 50 1 3
EFRUR 11° 1/4(fE%) # 100 1 1
EFV4 vk 50 1 3
FAHBBERIER) ¢ 100 x 45° & 2
FAHBBMEGREER) ¢50x%45° 1& 2
FAHBBMEGREER) $40x45° & 4
VSHEbLYa Uk $50x 40 & 2
\EDEESTS ®50 1 1

BRY—b W=150S m 157.7 157.Tm#5%(14246.2+6.5+3.0)
BKERRI |AHETEEWEEER) #50 1 1
B&GHEE LY A—AIT |AHBEHEEEER) ¢50x%45° 1& 2
\EDEESTS ®50 1 1
VSH&EbLYa Uk @ 75% 50 1& 1
BERRFALESE ¢ 50 1& 2
HEIFHRE T ¢ 100| REKTFEEY N - MY FFEEHKER) ¢ 250 x ¢ 100 # 1
IS RERVER) @100 1& 1
ISVTHFM @100 1& 1
— KRBT — LI FHGRYER) $100 ® 1
T =E H=800 S 1
T =E H=1200 S 1




#HEE (A ET15K]

No.1-2
HYFEHET ¢ 50 [FRELLH #50 7= 3
Bhlfvryr(BEER) ¢ 50 & 3 XEFEMULE
BTyt RUER) 1>a7 it ¢ 50 & 3 XEFEMULE

toH=E H=800 48 3
HAKRERETI @75 [Hkik ¢ 75 = 1
#®isH H=200 75 & 1
FAHBFFERTEE $100% ¢ 75 & 1
TSVTRFEM 75 & 2
HRRE H=800 #8 1
HAKOET HRILR K GRUER) $100% ¢ 20 1A 4
" ¢ 100% ¢ 25 & 2
BLAHF $20 & 4
" 25 & 2
Hiv 7ok $20 & 4
" ¢25 & 2
HIT)LAR 20 & 8
" ¢25 & 4

HIVP  L=4.0m $20 P 2 5.0m#E% (1.5m X 244 +1.0m X 244)

" $25 P 1 2.5m A% (1.5m X 14#41.0m X 144)

BRI —k W=150S m 45 4.5mArE%(1.0m X 34 40.5m x 344)




FHR

(fE ET15&]

No.2-1
I £ Bk By | BHME | EEHE " &

BLKEMEL |RITFLOBHRRT $100 m 142
" #50 m 6.2
RUIFLUERFI (REES) ¢ 100 1O##F m] 26
" 100 204 F b 3
" 50 20##F = 3
RUIFLUEYMT @100 m] 2
" #50 m] 3
ANZANBFITGRIER) @100 m] 4
ANZHNBFIREER) 50 ml 8
" $40 m] 10
EZLVEMET $50 m 6.5
" ®40 m 3

EHRY— m 157.7 157.7m#5%(14246.2+6.5+3.0)

BKREBRT HWKERE B 0.079 157.7m/2,0008 =0.0788 0

BLKEMRL |AH=hLREIGEEER) $50 a 10
B&GEELVA—MAIT |AH=HILBMFIGEEER) 75 a 1
BERBF L2 BB 50 B 2
HUIFHBET ¢ 100 | REKTFEERE TEESHER) 250 100 = 1
ISUUHFT @100 m] 1
HUIHHRET @100 & 2
ANZANBFITRIER) @100 m] 3
FERET H=800 # 1
FERET H=1200 # 1
BREHRE ® 2




FHR [TE ETIS5R]

No.2-2

HYFHRET 650 [HUIHHRET #50 3
HENORERQLAHES 50 ml 6
RUIFLUERFT ¢ 50 6
RERET H=800 #A 3
HERE L' 3
HAKBEEI G75 [HAREL #75 1
FAN=ZALBFIRIER) $100 m] 2
TSUUMET o5 1
FERET H=800 # 1
HERE L' 1
HKPET  [YRELakREBEIGRYER) $100% ¢20 i 4
" ¢ 100% ¢ 25 & 2
HENORERQLAHES 20 ml 4
" $25 m| 2

E-—LEMZL 20 m 5 5.0m#ER (1.5m X 24 +1.0m x 244)

" $25 m 25 2.5mAE% (1.5m X 14#441.0m X 144)
TSHET $20 m] 24
" $25 m| 12

SR —k m 45 4.5m7AaE%(1.0m X 34 40.5m x 344)




T T HE X No.3
% g O #w B E 2 BET =
il ETIER $ 100/ ¢ 50
BKEMBRT |HMKELT H=800 ¥rE® 060 m x 0985 m X 1420 m = 83.92 m3
H=600 HEQ 060 m X 0723 m X 132 m = 573 m3
H=600 B Em@ 060 m x 0720 m X 25 m = 108 m3
a5t = 90.73 m3 90
HHERLT DS #rEm© 060 m 0325 m X 1420 m = 27.69 m3
SR EQ 060 m 0263 m X 132 m = 208 m3
DS BT Em@ 060 m x 0260 m X 25 m = 0.39 m3
a5t = 30.16 m3 30
BALTEIR) ®.2.@ = 30.16 m3 30
HWIERLT FEL HE® 060 m X 0490 m X 1420 m = 4175 m3
FHELT BT E Q@ 060 m 0290 m X 132 m = 230 m3
it HE@ 060 m X 0290 m X 25 m = 044 m3
a&t = 4448 m3 40
BT EfESKn)| 2.7km = 4131 m3 40
EEREELOSH = 4131 m3 40
TERET t=10cm RC-30 060 m X 157.7 m = 9462 m2 95
LRERET t=8cm M-30 060 m X 1577 m = 9462 m?2 95
RAsEHET t=3cm FE A1 060 m x 157.7 m = 9462 m2 95
AERAHET (N AKET) t=4cm g i 080 m x 157 m = 1256 m2 13
AsEZERRUIE T t=4cm HEQ. @ 157 m X 4 % = 62.80 m
t=4cm HrE® 1420 m x 2 % = 28400 m
a5t = 34680 m 347
AsEHEE IR T t=4cm HEo.d 080 m X 157 m = 1256 m2
t=4cm HE® 060 m X 1420 m = 8520 m2
= 97.76 m2 98
R AsER = ARFE P T t=3cm 2.®.® 060 m x 1577 m = 9462 m2 95
AsTHEGEM- LS T E R E (km) 2.7km = 334 m3 3
HBKEMRT |HMWKET H=600 060 m X 0686 m X 45 m = 185 m3 2
HHERLT US5R 060 m X 0226 m X 45 m = 061 m3 0.6
HWIERLT FEL 060 m X 0290 m X 45 m = 078 m3 0.8
HEWET = 0.98 m3 1
TERET t=10cm RC-30 060 m X 45 m = 270 m2 2.7
EERET t=8cm M-30 060 m X 45 m = 270 m2 2.7
RAsEET t=3cm FE A1 060 m x 45 m = 270 m2 2.7
AsTHERRVIET T t=4cm 450 m X 2 % = 900 m 9
AsEHFERREER: T t=4cm 060 m X 45 m = 270 m2 2.7
AsTHERGER- LS T E R E (km) 2.7km = 0.11 m3 0.1




6100 HPPE [ Kk &

b & & Bng il e
PEE  (m) ‘ DI AT
BOEM B R |0 ERE S e L %
-1 Z.-1 -2 -3 Z.-4 } O=9) (1)
HPPE 100 5.000 4. 300 4. 300 0.700 1 1
ERi
HPPE
BR= 100
AT )
-1 42 4.-3 4 45 " f[ihE 5.000
HPPE 100 5.000 5.000 5.000
HPPE 100 5. 000 4. 000 4. 000 1. 000 1
HPPE 100 5.000 4. 000 4. 000 1. 000 1
HPPE 100 5. 000 1. 200 3. 800 5. 000 1
HPPE 100 5.000 1. 500 3.000 4. 500 0. 500 2
HPPE 100 5. 000 2. 500 2.500 5. 000 1 [¥ETF1IELET
HPPE 100 5.000 3.000 3.000 2.000 1
B 40. 000 25.500 9. 300 34. 800 5.200 8
40. 000 25.500 9. 300 34. 800 5.200 8




$100 HPPE Fd K & b B £ Bomd o E E FLER
UEE (m) DIHFNT]
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
(=g
HPPE
B = 100
0 g oE
%
z-1 -2 Z-3 4 Z-5 HEE|  5.000
HPPE 100 5. 000 0. 900 2. 000 2.100 5. 000 2 | % BT R AR e
HPPE 100 5. 000 3. 000 1. 500 4. 500 0. 500 2 [T RS e
HPPE 100 5. 000 3. 000 0. 600 3. 600 1. 400 2
3 15. 000 6. 900 4. 100 2.100 13.100 1. 900 6
15. 000 6. 900 4.100 2.100 13.100 1. 900




50 HPPE Fd /K %

b E K B i B
UEE (m) DIxNF
5 OB W B R |0 ERE - | AR o W=
B
-1 Z.-1 Z.-2 z.-3 Z—4 (OO (m)
1
(=g
HPPE
o
%
z-1 z-2 z.-3 Z.—4 Z.-5 = 50
HPPE 50 5. 000 2. 500 2. 500 5. 000 1
HPPE 50 5. 000 3.000 1. 000 0. 700 4. 700 0. 300 3 HuhE| 5.000
HPPE 50 5. 000 4. 500 4. 500 0. 500 1
5 15. 000 10. 000 3. 500 0. 700 14. 200 0. 800 5
15. 000 10. 000 3. 500 0. 700 14. 200 0. 800 5




650 HPPE Mt A & b & & Beig  TIE HTIEE

UEE (m) DIxNF
& (m) Gk T
=] Poris Vo P
& E M 'O ERE 2 g . i &
5]
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
(=g
HPPE
0 g oE
%
z-1 z-2 Z-3 4 Z-5 = 50
HPPE 50 5. 000 2. 500 1. 700 4. 200 0. 800 2
HPPE 50 5. 000 2.000 2.000 3.000 1 HHE[ 5.000
5 10. 000 4. 500 1. 700 6. 200 3. 800 3

10. 000 4.500 1.700 6. 200 3. 800 3



HiVP Bl K & B & &K

B4 - THE B on R

¢ 50
UEE (m) DHNS
& (m) GIwr T
=] Poris Vo P
5 OF M 'O ERE 2 g . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 2. 000 0. 500 0. 500 0. 500 0. 500 4. 000 1
XETF1IEHRbLET B
2 HiVP 50 4. 000 1.000 0. 500 0. 500 0. 500 1.000 3. 500 0. 500 ('ﬁiggg";%) = HiVP
B = 50
HEE|  4.000
i 8. 000 3. 000 1. 000 1. 000 1. 000 1. 500 7.500 0. 500
8. 000 3. 000 1. 000 1. 000 1. 000 1. 500 7.500 0. 500




$50 HiVP fd K & b B F
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 1. 000 1. 000 0. 500 0. 500 1. 000 4. 000 1
KPR X B IT P RO L
. B 3 Y A .
2 HiVP 50 4. 000 0. 500 0. 500 1.000 3. 000 ot sy HiVP
B = 50
HEE|  4.000
i 8. 000 1.500 1.500 0. 500 0. 500 1. 000 5. 000 0. 500
8. 000 1. 500 1. 500 0. 500 0. 500 1. 000 5. 000 3. 000




$40 HiVP Fd K & Y) & X B T BT
YEE  (m) DIAT)
Pirs Pirs VA o "/:& t * I
B omE  BR|OERE S ) R (m) 2 W %
&
Z.-1 ) Z.-3 Z.4 2.5 (OO ()
HiVP 40 4. 000 1. 000 0. 500 1. 000 0. 500 1. 000 4. 000 1
R
HiVP 40 4. 000 0. 500 1. 000 0. 500 0. 500 0. 500 3. 000 1. 000 XEEE LM HiVP
Br= 40
BHahE| 4.000
B 8. 000 1. 500 1. 500 1. 500 1. 000 1. 500 7.000 1. 000
8. 000 1. 500 1. 500 1. 500 1. 000 1. 500 7.000 1. 000



040 HiVP fd K & b & & B HE ET1IER
UEE (m) DHNS
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 40 4. 000 1. 000 0. 500 1. 000 0. 500 0. 500 3. 500 0. 500 NPT RS & B T 1
ERE
HiVP
B = 40
HEE|  4.000
i 4. 000 1. 000 0. 500 1. 000 0. 500 0. 500 3. 500 0. 500
4. 000 1. 000 0. 500 1. 000 0. 500 0. 500 3. 500 0. 500




$30 HiVP fd K & B H £ B T B
YEE (m) DINT)
= ey % (m) Bl T -
5 OB M B O ERE g . 5 &
5]
Z-1 ) Z.-3 2.4 Z.-5 [O=O) (1)
HIVP 30 4. 000 1. 000 1. 000 1. 000 3. 000 1. 000 1
EHE
HiVP
BE= 30
HohE|  4.000
B 4. 000 1. 000 1. 000 1. 000 3. 000 1. 000
4. 000 1. 000 1. 000 1. 000 3. 000 1. 000




